Ny
s, ':gto i
I “ .- .

ENGLISH

- CONJUNCTION »

PREVIOUS YEARS QUESTIONS

BY NAMITA MAHENDRAS

LIVE | 07:30 PM







All the pupils stood up / respectively /as
. the guru entered the room / no error

Ans :- use respectfully




Veena worked / very hardly / as she
. wanted to be a surgeon/ no error.

Ans :- use hard




She is either/ dumb or deaf / if not both /
no error .

Ans :- use neither in place of both .




The trainer / chastised Sandeep / for arriving
lately for workout / no error

Ans :- use late




The famous greek / philosopher Aristotle is / considered
as the father of biology / no error.

Ans :- remove as




Unless he doesn’t / apologises, | will not / talk
to him / no error.

Ans :- remove not




The amount which (a) / the Company has paid
(b) / to dependents of the dead worker (c) / is
~~fairly unjustified. (d) / No Error (e)

Ans :- remove fairly .




My dog has a habit (a)/ of barking at (b)/
strangers but it (c)/ seldom or ever bites them.
(d) / No error (e)

Ans :- No error




Hemant could (a) / only eat raw food (b) /
because of digestion issues (c)/ since his

- . childhood. (d) / No Error (e)

Ans :- use whether




Shivangi and Shweta (1)/ are (2)/ coward girls
(3)/ no error

Ans ;- use cowardly




So quickly shivangi (1)/ ran that she (2)/ caught
the bus (3)/ no error

5 ~Ans :- so quickly did shivangi run' is the right usage.

Rule of inversion should be followed .




My friend does her(1)/ work good (2)/ as sheis a
trained nurse (3)/ no error

“Ans :- use well .




She denied that (1)/ she had not (2)/ done
anything wrong (3)/ no error

ANsS :-remove not .




She is considered as (1)/ the best (2)/ singer In
the city (3)/ no error

“Ans - remove as




The principal rejected my (1)/ application
outrightly as (2)/ it was against the rules of the
" school (3)/ no error

AnNs :- outright




She doesn't sing well (1)/and | (2) /
don't sing neither (3)/ no error

~ Ans :- use either




We seldom or ever (1) meet our (2)/
relatives these days (3)/ no error

ANs :-




He is either deaf (1)/ or dumb , if (2)/ not both
(3)/ no error .

- Ans :- use either in place of not both




Sushant knows (1)/ riding a horse
(2)/ very well (3)/ no error

- Ans :- how to ride a ride .




When she received the good news,(1)/ she ran
straightly to (2)/ call up her husband (3)/ no
error

Ans ;- use straight in place of straightly




You can eat a/as much as you

like b/at the newly lunch bar. c/
No Error.

~ ANS :-







